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2y FHAH 2,000,000& = 13l 2,000
-g2Egs RAES 500,000& = 1CH 500
— JAQISE Al 2 2,000
- ANEES SR 22 500,000& = 23] 1,000
A 2 ASRA HEE A
,000,000& = 13 1,000
03 &AL S HI 20,000 0 20,000
OFgE=a T2 I8 - Al
20,000,000& = 13l 20,000
202 04 Hl 5,940 5,940 0
01 201 b 5,940 5,940 0
osgrgy ARx
165,000& = 3H = 123 5,940
204 MR=HAH| 3,000 3,000 0
03 EZYFEHI 3,000 3,000 0
oo ssH(Zagd )
50,000& = 5% = 12& 3,000
206 24 12,200 0 12,200
01 MHZ 4l 12,200 0 12,200
O=s4X 2 5,000& = 5000H 2,500
ORSETE X 7 5,000& = 50004 2,500
OEBEZEEAXN #< 5,000& = 1000H 500
OBE&=ZM 7¢ 30,000 * 2000 * 23| 1,200
OgZd&EH 23+ 7¢ 500,000& = 13l 500
O=&1 &L=l 5,000,000& = 13l 5,000
401 Al HI L 2 T 64,000 50,000 14,000
01 A& HI 64,000 50,000 14,000
O HI|IE2t ST AAH W
60,000,000& * 14l 60,000
Otlsel IHEXAIZ 8 FHHI S A
4,000,000& * 14 4,000
405 XHoHF S HI 27,760 0 27,760
01 XA 2 ZF S| 26,260 0 26,260
Os=20ls8 elZED 7¢
3,000,000& = 1CH 3,000
ogtga AZFAI ¢ 500,000& * 1CH 500
O=2AMd1n #HE 1¢ 400,000 = 2404 9,600
Of=s3d2E pc7g 1,500,000 * 2CH 3,000
OoMa ¢ 300,000& = 14 300
OXMAE IIEME P2 200,000& = 124 200
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2M: 23
dH: 2R
o2l 23w

HHD &

T i

>z A
(i3]

J

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OARE 2oX ¢ 120,000 * 18H 2,160
O3loHIolE ¢ 300,000 = 504 1,500
O &olAa oXt 2 70,000& * 504 3,500
O sen 9 AW 2Y
2,000,000 = 104 2,000
O e gd8A 25 2¢ 500,000& * 1 500
02 = A7 1,500 0 1,500
ONelol ®AA =AZ7LH 15,0008 = 100 1,500
gerzd 55 42 2ed 500,000 1,550,000 A 1,050,000
Xl 168,000
= 332,000
401 AlEHIZL 2 0HY| 500,000 1,550,000 A 1,050,000
Xl 168,000
= 332,000
01 Al&H| 500,000 1,550,000 A 1,050,000
oztgerga == 9 22492 500,000,000 500,000
Xl 168,000
= 332,000
Hsgs L A& 21,263,375 18,530,718 2,732,657
N 2,785,000
J| 205,757
= 142,149
= 18, 130,469
H=gs N 4,489,086 2,991,706 1,497,380
J| 205,757
=} 142,149
= 4,141,180
HMSSA =l & X& 449,120 430,740 18,380
201 et 10,200 7,800 2,400
01 AP 22| H| 5,200 4,000 1,200
Ogt4f2Y| 4,000
—AZX(OIAEY EE2 ME
2,000,000& = 2= 4,000
(@pE==1:] 1,200
~ASBATNY U ATZ0IHEY 222 7Y
1,200,000 1,200
03 A2 HH| 5,000 3,800 1,200
OAZX[0IAEY &€ &A= |1 N
5,000,000& 5,000
202 o4 | 7,920 5,940 1,980
01 2Ll 7,920 5,940 1,980
OM=SHAF JH=l XI& 165,000 * 4 x 12& 7,920
203 ¥ 2 =Xt 3,000 3,000 0
03 Al 2 =& 2 = X H| 3,000 3,000 0
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SH: 2o
Y HSHES L AL

@2 d=g2s N (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AEBH=UHE O 150,000& * 203] 3,000
307 QI2t0| ™ 419,000 414,000 5,000
04 QI2SHALAIE E = 409,000 404,000 5,000
OZdYToM=Uz &I 220,000,000& * 13 220,000
OdEZUH=EUE R &
60,000,000& * 13] 60,000
OZdMEXN=zU=zA &It
100,000,000& * 13| 100,000
OEMNEE d2UHa I 4,000,000& * 13 4,000
ON= & M3 &It 15,000,000& 15,000
OMeEg EsEUa &It 10,000,000& 10,000
06 282 10,000 10,000 0
OMsUa #IIds MolEE
5,000,000& =* 23] 10,000
405 XH&HF SHI 9,000 0 9,000
01 AL =S EF SHI 9,000 0 9,000
OMSAIEZS 22l L A JISEE Jter #
2 2,000,000 2,000
OAZ=[0IAEY 23+ 7,000,000 7,000
M= X 103,000 98,000 5,000
307 QI2t0| M 98,000 93,000 5,000
02 DI2HEAAIEE X 8,000 8,000 0
OFYZHSSH YFLH 2Ll
8,000,000& * 13 8,000
B OIAHHBEIE2IHIEX 90,000 85,000 5,000
OFg=zZxMs3 X33l 90,000,000& * 13] 90,000
405 X+HoHF SHI 5,000 5,000 0
01 A&t =2 S F SHI 5,000 5,000 0
Oo#gzZiMss 23+ NA
5,000,000& * 14 5,000
SUSR SN 253,000 236,000 17,000
307 QI2t0| ™ 253,000 236,000 17,000
02 DI2HE MAIEE X 253,000 236,000 17,000
O3LSR 84 X3&Hl 36,000,000& 36,000
OFgEzZ &2 84 XN ZH 40,000,000 40,000
OFgE® =442 84 N3 45,000,000& 45,000
OdEZ R4HE E320A X 12,000,000& 12,000
Oty 5724 A3l 50,000,000& 50,000
Osstn AXx=2Y XJAHH| 10,000,000& 10,000
Onssn s3rEE4H AJZH 60,000,000 60,000
ot MEIH KA BHXI(ESXH) 175,248 175,248 0
J| 76,824
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SH: 2o
Y HSHES L AL

gel: Msgs XN
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
o 98,424
307 glz2tol & 175,248 175,248
J| 76,824
s 98,424
02 It M AHE X 175,248 175,248
Ot MEH XX HiX
2,134,000& » 6% 128 153,648
J| 76,824
e 76,824
Ooget MEHSXNEX &sH EX
300,000& = 6 » 12& 21,600
Hzd MEMSXAEX HX(2SKA) 233,664 233,664
J| 102,432
s 131,232
307 glz2tol & 233,664 233,664
J| 102,432
s 131,232
02 It HAHE X 233,664 233,664
oozd MEdsAZX bix
2,134,000& » 8F » 12&8 204,864
J| 102,432
e 102,432
Onz2d MEXNsANEA gsH EX
300,000& = 8% = 128 28,800
MEH=sU XA 8,000 8,000
< 4,000
s 4,000
307 gl2tol & 8,000 8,000
< 4,000
s 4,000
02 IZHE M AHE L 8,000 8,000
OoMax=CHal X& 4,000,000& = 23| 8,000
< 4,000
[ia 4,000
MEHs T2 X3 14,792 14,792
< 2,937
e 11,855
307 glz2+0ol & 14,792 14,792
= 2,937
e 11,855
02 YAFHAANGEEE 14,792 14,792
OdENs=ZZIH 9,792,000 9,792
< 2,937
s 6,855
OMatliswns 22y =22 ¢
5,000,000& = 13l 5,000

_30_




2N
X ZH -
L= B

el

= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
HEHS WA 14,112 14,112 0
= 4,234
s 9,878
307 gl2tol & 14,112 14,112 0
< 4,234
s 9,878
02 It HAHE L 14,112 14,112 0
Odatrsns 29 14,112,000& 14,112
< 4,234
= 9,878
ZOHQ MEH=E X 16,142 14,142 2,000
= 2,571
e 13,571
307 glz2tol & 16,142 14,142 2,000
< 2,571
i 13,571
02 HAHFHAANGEEE 6,142 6,142 0
OFofel MES0tel XI& (XX ZEoHel)
5,142,000 5,142
< 2,571
e 2,571
OHM M=2s XA 1,000,000 1,000
04 DIZHHALALSE E X 10,000 8,000 2,000
OHM21sl 2aET HoHQ MHMSUH &It
10,000, 000& 10,000
2R NS0 HE ¥ /X XY 1,855,000 360,000 1,495,000
307 21201 A 1,855,000 360,000 1,495,000
02 QItFAAHE X 1,450,000 0 1,450,000
O&= EFUs |X 22 240,000, 000& 240,000
Od= 1ssl FEIUE | 22
250,000, 000& 250,000
O&d= U=l =23 | 223
240,000,000 240,000
Od= dd=s7Us =X 2E=
250,000, 000& 250,000
O&= O &dg=E7UE RX 223
220,000, 000& 220,000
02018 d=ZEHA =2 UE KX
230,000, 000& 230,000
OM1038 2AEZXAMI HILIAUE S
20,000,000& 20,000
04 QIZFHALAIH E = 400,000 360,000 40,000
O&XEd | XA 170,000, 000& 170,000
O&=, =& Msia =X X
230,000, 000& 230,000




EX: S3Hs
M Nse2ds YL Aldz
&He: dM=gs I (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
06 282 5,000 0 5,000
O&X&EadH 2832 5,000,000 5,000
2G93 MEH=U3E 55,000 50,000 5,000
307 gizto| A 55,000 50,000 5,000
04 CIZ2tSHALALSE B = 55,000 50,000 5,000
OFEZ MEMFUI 55,000,000& * 13| 55,000
2 2x=2A 0ietEW S 120,000 120,000 0
307 212t0| & 120,000 120,000 0
04 CIZ2HSHALALS B X 120,000 120,000 0
OXYE 22248 0tctE 3l
120,000,000& * 13l 120,000
224 8= IEAUS 50,000 50,000 0
307 QI2t0| & 50,000 50,000 0
04 CIZ2tSHALALS B = 50,000 50,000 0
OFE 2 8=2 NEH U3 50,000,000 50,000
et A= BHECIE S 14,000 14,000 0
307 212t0| ™ 14,000 14,000 0
04 SIZ2ISHAAISHE E X 14,000 14,000 0
OHYGZ2HH BHECIEHS| (180 AlZ D)
14,000,000 = 13| 14,000
G924 s = 3 S0 3 14,000 14,000 0
307 QI2t0| & 14,000 14,000 0
04 CIZ2tSHAPALS B X 14,000 14,000 0
OFEZeH g9 -3dx3d 32U 3
14,000,000 = 13| 14,000
22 M2UHAAT XY 14,000 14,000 0
307 2iz2to| & 14,000 14,000 0
04 DIZ2LSHALALSE B = 14,000 14,000 0
OFE 2t 8=2 HAATXF
14,000,000 = 13| 14,000
HE240 SE=U3 10,000 10,000 0
307 2iz2to| A 10,000 10,000 0
04 QIZ2tSHALAFS B X 10,000 10,000 0
Oz4E 24 =3l 10,000,000& 10,000
2EZ4L) M2 2 22U 3 30,000 25,000 5,000
307 QI2t0| ™ 30,000 25,000 5,000
04 CIZ2tSHALALS B = 30,000 25,000 5,000
OFEZ)| 8= SUHZEUS
30,000,000& * 13| 30,000
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fAM: 2=
g Hsgs & Ad2a
o9 HSEs Xe (29l 8)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FE a2l d=235¢e HUA HEl 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
OFdsta il 82552 HLAHS
10,000,000& * 13l 10,000
FEZEFEIEI 203 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OFEZEIFEIZI U3
10,000,000& * 13 10,000
ZASEXA d2 SIS SZUE 120,000 120,000 0
< 100,000
[ia 20,000
307 21201 A 120,000 120,000 0
< 100,000
[ia 20,000
04 QIZFHALAIH B & 120,000 120,000 0
OXNbsl BAEEXA 82 SISsd 2=
tHal 120,000, 000& 120,000
= 100,000
[ia 20,000
St EAYE NIWIAZ 14,000 14,000 0
307 glz2+ol & 14,000 14,000 0
04 QIZFHALAIH B = 14,000 14,000 0
OBERESNI HACUS L 2 &L
T3 14,000,000& * 13l 14,000
JFEAE A2 2o 3 80,000 70,000 10,000
307 g2+l & 80,000 70,000 10,000
04 QIZFHALAIH E = 80,000 70,000 10,000
OIS AL 242 20103 (148 H)
80,000,000& 80,000
=R HSsoal o= 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
04 DIZHHALALSE E X 70,000 70,000 0
Ozctel MsUal Nzl X 70,000,000& 70,000
AZAH0IEA XL 37,859 37,859 0
J| 26,501
< 3,407
e 7,951
307 glz2+ol & 37,859 37,859 0
J| 26,501
< 3,407
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2N
P H=sgs 2 Adze

el

X ZH
S =

Z M = ot

HSAE 22

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 1,990,000 1,141,000 849,000
01 A& HI 1,990,000 1,141,000 849,000

OEY O 23717 &X 150,000, 000& 150,000
OFE=UNSHH =XE & X0
350,000, 000& 350,000
OF¥E=UNSsHEH =HFH 60,000,000 60,000
OZYeYSEE XYY &1
300,000,000 300,000
OFEIZL2sd =X &€Z 150,000,000 150,000
Ogaet2t 258 =4 180,000, 000& 180,000
OFEEZEE Fl 200,000, 000& 200,000
OF=32&% Fl 50,000, 000& 50,000
OEXNHUAE ZHALE WA 50,000,000& 50,000
OXYZHHUAR DE Byl Y BAES 24
50,000,000& 50,000
OFFAUHLAZE DE FH ¢ g2 2F
300,000, 000& 300,000
OFEZNEE HE 150,000, 000& 150,000
405 XHoHE S HI 70,000 0 70,000
01 AL EFH S 70,000 0 70,000
OFERrE2 =3 7¢ 70,000,000& 70,000

2AE MESAE FXNE= 90,000 70,000 20,000
401 AIEHIZ 28I 70,000 70,000 0
01 A& Hl 70,000 70,000 0

OSY 23 ZZ2MESANES RNES
,000,000& * 1492 70,000
405 THabF S| 20,000 0 20,000
01 XA = EH St 20,000 0 20,000
O=3HSAIE 22l &0 J1AH7Y
20,000,000& 20,000

FEZ EZMSAE 2l 1,800,000 0 1,800,000
403 UtXISHE X201 H 1,800,000 0 1,800,000
02 SO 2SO HEHAE X 2 E AL H 1,800,000 0 1,800,000

OAZXIT, 2= S SSHMISANE <
Er2IH 1,800,000, 000& 1,800,000
FYAZXEOL 2 2,010,000 1,587,000 423,000
Xl 600,000
e 1,410,000
401 Al B2 2B 2,010,000 1,000,000 1,010,000
Xl 600,000
e 1,410,000
01 A& HI 2,010,000 1,000,000 1,010,000

_36_




2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OFGAZ=IT OAEHE AX(5.6.772F)
1,500,000, 000& 1,500,000
Xl 600,000
s 900,000
ORINIZANOEEE B+ 50,000,000& 50,000
OFFAZXOIL 225 2|22
300,000, 000& 300,000
OFEAZXIT & SEUHE &
80,000,000& 80,000
OFGAZ=IIT3 A0S B3XH
80,000,000& 80,000
FEZESEE 2l 505,000 0 505,000
201 L2l 5,000 0 5,000
03 A2 Z Hl 5,000 0 5,000
OFEZE I HEA 5,000,000& 5,000
405 THabH S| 500,000 0 500,000
01 XML = ZFH SHI 500,000 0 500,000
OFEzZgs+ZE =257 500,000,000& 500,000
ANLEMSALXNS(HEAZ=0T &0 =4) 1,393,000 4,600,000 A 3,207,000
Xl 785,000
s 608,000
401 Al & HI & 28I 1,393,000 4,600,000 A 3,207,000
Xl 785,000
s 608,000
01 A& HI 1,393,000 4,600,000 A 3,207,000
OFEATZXIS EUHIZHAY
1,393,000, 000& 1,393,000
Xl 785,000
e 608,000
NLHSALXNI(HEZE+IE HE) 1,950,000 3,000,000 A 1,050,000
Xl 1,400,000
fia 550,000
401 Al HI & 28I 1,950,000 3,000,000 A 1,050,000
Xl 1,400,000
[ia 550,000
01 A& HI 1,950,000 3,000,000 A 1,050,000
OFgEZEg+g%d Hg 1,950,000, 000& 1,950,000
Xl 1,400,000
[ia 550,000
NEHMSALSXNIA(2HE SE2ST 2L A Y) 3,170,000 0 3,170,000
401 Al B2 2O HI 3,170,000 0 3,170,000
01 A& HI 3,150,000 0 3,150,000
OFE3eg2sd 224 3,150,000, 000& 3,150,000
03 Al 20 HI 20,000 0 20,000
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FN: 23HSD

3N N=gs

=

4o
>
nx
il
[al]

S MFAIE 2el (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFISL2sH 22 20,000,000& 20,000
ANLEMSALXN (HESLESSE HY) 1,500,000 0 1,500,000
401 Al B2 2B 1,500,000 0 1,500,000
01 A& HI 1,500,000 0 1,500,000
OUBBLSES 28 2N
1,500,000, 000& 1,500,000
ANLEMSAE NA(HEAZX0 T OFRE 284 A 2,220,000 0 2,220,000
e)
401 AIEHIZ 28I 2,220,000 0 2,220,000
01 A& HI 2,220,000 0 2,220,000
OBYAZXNS OIRE 224 208
2,220,000,000& 2,220,000
HY2FHH (23H =) 69,256 65,756 3,500
AR AHI(2M ) 7,860 7,140 720
lARAH (2t 7,860 7,140 720
204 A=A H| 7,860 7,140
02 a2 =4l 7,860 7,140
OHEYE(%2) 7,860
— 2348 Ol & 140,000& = 2H = 123 3,360
— 234 0|gt 125,000& » 39¥ » 128 4,500
24l (23tH <) 61,396 58,616 2,
22H(2s M) 61,396 58,616 2,
201 L2l 27,416 27,416
01 At 22l 27,416 27,416
Oggt=&H| 9,200,000 9,200
O=&Hl 6,0002 * 23" » 11 * 123 18,216
202 Od4dl 25,800 25,800
01 = LH o4 4l 25,800 25,800
OJlege=d 50,000& = 239¥ » 12& 13,800
o¥azz 200,000& = 598 « 123 12,000
203 YR =&l 4,980 4,200
04 RENSELRZ=LH| 4,980 4,200
ORM2IYRFLH 415,000& = 12& 4,980
204 MR AH| 1,200 1,200
01 Mg 1,200 1,200
OGS HH| 100,000& » 12& 1,200
405 THebH S| 2,000 0 2,000
01 XA =2 ZFH SHI 2,000 0 2,000
OAMEA dED I 2,000,000& 2,000
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